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Theorem 6.78. Let σ∗ = min{n | Vn = Gn}. Then σ∗ is the minimal solution to the optimal stopping problem for G. Namely,
EGσ∗ = maxσ EGσ where the maximum is taken over all finite stopping times σ. Moreover, if EGτ∗ = maxσ EGσ for any other finite
stopping time τ∗, we must have τ∗ � σ∗.

Remark 6.79. By construction Vσ∗∧n is a martingale.















Theorem 6.80. For any k ∈ {0, . . . , N}, let σ∗
k = min{n � k | Vn = Gn}. Then EkGσ∗

k
= maxσk

EkGσk
, where the maximum is taken

over all finite stopping times σk for which σk � k almost surely.


